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PUBLIC ADMINISTRATION
PAPER - 11

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

“Administration, not the sword, is the
key to enduring in the Great Society.”
Who said it ?

(A)  Woodrow Wilson

(B) Charles A. Bernard

(C) Adams Brooks

(D) M.E. Dimock

Separation  between Politics and
Administration had become an
‘outworn credo’. Who said this ?

(A)  Woodrow Wilson

(B) Dwight Waldo

(C) Frank J. Goodnow

(D) Herbert Simon

“In the Science of Administration,
whether public or private, the basic
good is efficiency.” Who among the
following made this statement ?

(A) L. Urwick

(B) Luther Gullick

(C) Henry Fayol

(D) J.D. Mooney

Post-modern Public Administration is

based on a trilogy of post-behaviour

tenets of Public Administration. Which
of the following is the trilogy ?

(A) Critical Theory, New Left
Ideology and Constructivism.

(B) New Public Administration,
Critical Theory and New Public
Management.

(C) New Public Administration,
Public Choice Theory, and New
Public Management.

(D) Critical Theory, Phenomenology
and Structural Theory.
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Benn and Gaus contend that Publicness
and Privateness in society are
comprised of three dimensions.
Identify the dimensions propounded by
them.

(A) Agency, institution and person
(B) Agency, interest and access

(C) Institution, interest and person
(D) Interest, person and access

Public Management is the merger of
normative orientation of traditional
Public ~ Administration and the
instrumental orientation of General
Management. Who said it ?

(A) Christopher Hood

(B) Tullock

(C) Vanban-Lane

(D) Perry and Kramer

“We are living in the age of
organization Man” who among the
following had said it ?

(A) W.H. White

(B) L.D.White

(C) E.N. Gladden

(D) Herold E. Dimock

Assertion (A) : Open model theorists
dislike the rigidity, inflexibility and
anti-humanist view of bureaucracy.
Reason (R) : Close-model theorists
consider organization as a fluid
network structure.
Codes :
(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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10.

11.

12.

Consider the following factors :

(i)  Nature of work

(i)  Age of agency

(iii) Leadership

(iv) Location of the organizational units
Which one of the following principles
of organization is determined by above
stated factors ?

(A) Hierarchy

(B) Unity of command

(C) Span of control

(D) Authority

Who among the following has called
staff agency as ‘it is her alter-ego’ ?
(A) James D. Mooney

(B) Henry Fayol

(C) Pffifner and Presthus

(D) Dimock, Dimock and Koeing

The concept of ‘Unity of vision’ is a
core theme of

(A) Matrix organisations

(B) Missionary agencies

(C) Field based offices

(D) None of the above

Match List — | with List — Il. Select the
correct answer from the codes given
below :

List—1 List—11
(Types of (Attributes)
Leaders)
a. Climbers 1. Motivation and

Commitment
b. Conservers 2. Maximisation of
Roles and Resources
c. Zealots 3. Power, Income and

Prestige

d. Advocates 4. Sense of Public
Interest

5. Minimum change

Codes :

a b c d
(A) 3 5 1 2
B) 2 4 1 2
(C) 3 5 2 1
(D) 1 2 3 4
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13.

14.

15.

“The  process of transfer of
administrative authority from lower to
higher level of government is called
centralization, the converse,
decentralization”. Who has given the
above definition ?

(A) Henry Fayol

(B) L.D.White

(C) J.C. Charlesworth

(D) James W. Fester

Match List — I with List — Il. Select the
correct answer from the codes given
follow :

List—1 List— 11
(Definitions) (Authors)
a. An employee 1. Henry Fayol
should receive

orders from one
superior only.

b. A man cannot 2. Pfiffner and
serve two Presthus
masters.

c. Every member of 3. Dimock and
an  organization Dimock
should report to
one and only one

leader.

d. Each  employee 4. Gullick and
should have only Urwick
one boss.

Codes :

a b c d

A) 1 4 2 3

B 1 3 2 4

© 2 3 4 1

(D) 3 2 4 1

The term ‘Charisma’ used by Max
Weber in the ideal type is taken from
which of the following languages ?

(A) German

(B) Greek

(C) ltalian

(D) Roman

D-14-12



10.

11.

12.

frfetiae sRet W faar L

(i) o &l TP

(i)  STFRIOT I 2T

(iii) e

(iv) TSI Thieal i Tareta
fr=fefad 5 @ Se &1 #F 4@ fagr
SIRIATET HRepT §RT HEIRE grar € 2
(A) U |OH

(B) 31T Sl Wehell

(C) Ta=or =1 &=

(D) wERER

frafafed 7 9 oo =i e =t
“ITE I T W& 8" FeT & 2
(A) =g g
(B) & wATA
(C) TwR 3R I
(D) fewte, fenth 3R HiET
g o THdT H FTUROT Y THR &
TISHT <l T oo € 2
(A) 2TEET Ee
(B) R afiyentor
(C) &=-3MuIRd HrEaed
(D) SWiwd H § HIE Tél
g - | ogE - 1 % e gafe
HT | A= KT M0 e & 7@ 9 Wl
3T BT T DI
Tt - | =it - 1
(et & (T
a. 3NEH 1. TicERT 3R
EIREEI]
b. zemferfa 2. e iR
st TETYAT
& PeaET)
PiIS)

. W fed @ wHe
5. =gAaH uRed

~~

Y

N—r
RPWN WD
NOhoio
WN RO
AN

13.

14.

15.

“THR F AT F TR T FW B W
YRR TR T BEATAROT S 1ehioT
3T 3T TaRia fahmsiioT Fecttdr & 17
Tg i ferae S & 2

(A) T HAA

(B) TS, T =T

(C) <. &t arcdae

(D) ST T=g, B

& - | ®mogE - | % 9 gafed
FST | A fqT T He T TSR A

Waﬁﬁ?:
=it - | =t -
(afwreTd) ()
a. FHEM B HaA 1. T HAA
T & TRt 9§
9T Ut
e |
b. U =T g 2. fymRds
AT & 3T Prers)
Y TEl B Gehell |
c. U4 & U 3. TeHik Ug
TS & A TH (e
& Jar @ e
AT TR |
d. 7% FHEARI H 4. T U
FHIA TH & @ SOF
g =fEu |
FT
a b c d
A 1 4 2 3
® 1 3 2 4
© 2 3 4 1
D)3 2 4 1
Hog I §RT 304 e UeY 9 5 |

o= T ‘HRear v R e ¥ ferar
™Y ?

(A) <A

(B) i

(C) 3fered

(D) A

Paper-I111



16.

17.

18.

Match of the following statements are
correct in relation to F.W. Taylor’s
‘Scientific Management’ ?

(1)  Time and methods of study may
be used to find out the best way
of performing a job.

(i)  Specialists may be employed to
perform the tasks.

(iii) Workers must perform the job in
whichever way they like.

(iv) Work place and incentives are
not linked to output.

Select the correct answer from the

codes given below :

Codes :
(A) Only (i) (B) (), (i)
(€) (), (i) (D) (i), (iv)

Which of the following concepts are
related to constructive conflict as
suggested by Mary Parker Follet ?

(i) Domination

(i) Compromise

(iii) Integration

(iv) Delegation

Select the correct answer from the
codes given below :

Codes :

(A) (), (i) (B) (iii), (iv)

(C) (), (i), (iii) (D) (i), (iii), (iv)

Assertion (A) : The satisfying
administrative man is different

from the maximising man.
Reason (R) : The administrative man
does not search for the optimal
decision but a satisfactory one
Codes :
(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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19.

20.

21.

22,

Match List — I with List — Il. Select the
correct answer from the codes given
below :

List— 1 List— 11
(Author)  (Types of Leadership)
a. Mooney 1. Institutionalists,
and Specialists,
Reiley Hybrids

b. Etzioni 2. Titular leaders,
Controllers,  true
organizers

c. Marwick 3. Officials, Informal
and formal leaders

d. Gowldner 4. Locals and
Cosmopolitans

Codes :

a b c d
A 1 3 4 2
B 2 3 1 4
(C) 2 4 1 3
4 2 3 1

Clayton Alderfer attempted to rework
Maslow’s need hierarchy to align it
more closely with empirical research.
His revised need hierarchy is labelled as
(A) Theory of Needs

(B) Self efficiency theory

(C) ERG theory

(D) Equity theory

Who is the author of the book titled
‘Bureaucrazy’ ?

(A) Michael Crozier

(B) M.K.Kaw

(C) P.N. Haxer

(D) Veerappa Moily

Which of the following is not the

assumption of theory X ?

(A) Most people must be corrected
and controlled.

(B) The average human being prefers
to be directed.

(C) Most of the people do not dislike
work inherently.

(D) People have relatively little
ambitions and wants.
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23.

24,

25.

26.

Which of the following are the foci
areas of research in Comparative
Public Administration as identified by
Ferrel Heady ?

(i)  Component approach

(i)  Modified traditional approach
(iii) Development system model

(iv) General system model

(v) Middle range theory

Select the correct answer by using
codes given below :

Codes :

(A) (@), (ii), (iii), (iv)

(B) (i), (iii), (iv), (v)

(C) (i), (iii), (iv), (v)

(D) (), (i), (ii), (v)

Which of the following are the features
of Diffracted Society according to Fred
Riggs” ?

()  Universalilsm

(i) Ascription

(iii)  Attainment

(iv) Particularism

Select the correct answer from the
codes given below :

Codes :

(A) (i), (i), (i)

(B) (i), (iii), (iv)

(C) (i), (i), (iv)

(D) (). (iii), (iv)

Which one of the following is the

concern of the Hatch Act 1919 ?

(A) Political activities of Civil
Servants

(B) Right to strike

(C) Right to form association

(D) Machinery for Negotiation

Who is in-charge of the office of

Public Service and Science in Britain ?

(A) Lord Chancellor

(B) Chancellor of Exchequer

(C) The Chancellor of the Duchy of
Lancaster

(D) Cabinet Secretary
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27,

28.

29.

30.

In Britain, responsibility for Central
Co-ordination and Management of
Civil Services is divided between :

(A) Treasury and Home Department

(B) Prime Minister and Home
Department
(C) Cabinet Office and Prime

Minister’s Office
(D) Cabinet Office and Treasury

Comparative Public Administration is
not concerned with

(i) Search for the theory of
administration.

(if)  Practical application of
knowledge.

(iii) Observance of Cultural factors

(iv) Study of ongoing problems of
Public Administration.

Select the correct answer from the

codes given below :

Codes :

(A) (), (i), (i)

(B) (i), (iii), (iv)

(©) (), (i), (iv)

(D) (), (iii), (iv)

What type of Budgetary method is

used in the context of Development

Administration ?

(A) Performance Budget

(B) Block vote Budget Allocation
System

(C) Zero-base Budget

(D) Line-ltem Budget

Planning in Development
Administration with the objective of
optimal location of services like
Schools, Hospitals and Banks etc. is
known as

(A) Local planning

(B) Spatial planning

(C) Vertical planning

(D) Horizontal planning
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31.

32.

33.

34.

Catastrophe theory developed by Rene
Thom for the study of development
administration has been borrowed from

(A) Physics

(B) Applied Mathematics
(C) Applied Economics
(D) Disaster Management

Who expressed the view that
development administration requires a
parallel  strengthening  of  the
democratic and representative political
process ?

(A) F.W.Riggs
(B) Lucian Pye
(C) LaPalombara
(D) George Cant

Which of the following features of
Development ~ Administration  are
shared by New Public Administration ?

(i)  Effective coordination
(i)  Change orientation
(iii) Temporal dimension
(iv) Goal orientation

(v) Ecological perspective
(A) (i) and (iv)

(B) (i) and (ii)

(C) (iii) and (V)

(D) (iv) and (v)

Under which Article of the Indian
Constitution, the  President is
empowered to  promulgate an
ordinance ?

(A) Article 53
(B) Article 54
(C) Article 122
(D) Article 123

Paper-I111
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35.

36.

Consider the following statements
regarding the Union Council of
Ministers and select the correct answer
from the codes given below :

(i)  The first Administrative Reforms
Commission recommended that
the  number of  Ministers
including Prime Minister should
be sixteen.

(i) The Constitution (Ninety-first
Amendment) Act, 2003 specify
that the total number of Ministers
shall not exceed 15 percent of the
total number of members of the
House of people.

The Constitution has classified
the members of the Council of
Ministers into different ranks.

The National Democratic
Alliance Government (headed by
Mr. A.B.Vajpai) had all the three
types Ministers.

Codes:

(A) (), (i)

(B) (i), (iii)
(C) (i), (iv)
(D) (i), (iv)

(iii)

(iv)

Which of the following statements is
not correct about the National
Technical Research  Organisation
(NTRO) ?

(A) It was constituted in 2004 after
Kargil War.

If is located in P.M.O. under the
supervision of National Defence
Adviser.

R.AW., I.B., and Police Stations
of the Country are interlinked
with NTRO.

It stocks technical intelligence
reports.

(B)

(©)

(D)

D-14-12



31.

32.

33.

34.

T WA & T & faw | ogiwm
TR foiad merdehe fagra %l 9 forar
TE 2

(A)  iifeepr

(B) TR O
(C) oryg e
(D) =T YA

g forgem fommr ¢ fo o wemes o
TAha=g AR wfaFias TeHitaes uishan
H FIATR € F SR STUfeId g
[

(A) T Ty o
(B) IfaE e
(C) o UTetw=rT
(D) it e

= d 9 B 9 fowwan fas aem
AR A A TR § GHH & 2

(i) Ve g

(i) IREgE

(i) R (SHReT) 3™
(iv) e

(v) URrefqene arkue
(A) (i) 3R (iv)

(B) (i) i (i)

(C) (iii) 3ﬁT(v)

(D) (iv) 3R (v)

IRA & W9 & 6 ST &
(T BT STEARIT ST A Y BN T 2

(A) 3FT=T 53
(B) 3T=T 54
(C) 3T=% 122
(D) =% 123

D-14-12
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35. WH™ WA URE % AR H e STl W)

36.

foar & SR e ST T F H F W@
IR T T B |
() ¥I9 VRIS gER AN
RMER UM W dfed ot
AT T T 16 BT AT |
(i) 919 W™ Tele AEH=I, 2003
o Sfeeifad forar man & T Abe &t
FeT AT Ak AT o T&&T ol ol
T % 15 ufaed @ 2t Tél g
TqMET |
g™ # w uRug % TS H
fafir=r giforat & atiepd fopar T € |
3ee foeRl aSToll & Ages arett
LT SIS TeaeT WHR |
Tt = Aot o W
ETE
(A)
(B)
(©)

(D)

(iii)

(iv)

(i), (i)

(i), (i)
(iii), (iv)
(ii), (iv)

LT qHhIht MY e (NTRO) & TR
o 7 4 9 % 9 U 98l T2l ¢ ?

(A) THH T FRATT JF F a5 2004
Hgamen |

(B) I WU Wil A H LR FLT
HARHR & 37T HEd & |

(C) I (RA.W.), LB. (3TE) Ud 39T &
9o 9 N.T.R.O. ¥ S T |

(D) I& THhl TGEAT UideRAT
TUE HATE |
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37.

38.

39.

40.

What is the legal basis for the
establishment of Cabinet Committees
in India ?

(A) Rules for Parliamentary procedure.

(B) Allocation of Business Rules,
Government of India.

Resolution of Cabinet.
Decision of Prime Minister.

(©)
(D)

Which of the following has been
described as ‘the master key to good
governance’ by the Second
Administrative Reforms Commission ?

(A) Promoting e-governance

(B) Social Capital - A
Destinity

Ethics in Governance
Right to information

shared

(©)
(D)

“The Chief Secretary’s job is not a
technicians’ or even a professionals’,
he is not a knowledgeable engineer nor
even a first class magistrate, he is a
part of process of Government and in
democratic republic, part of human
process’. Who made this statement ?

(A) Mohan Mukharjee
(B) Dharmvir

(C) E.N. MangatRai
(D) V.D.Murti

Which one of the following is the first
law on Freedom of information ?

(A) Freedom of Information Act
(U.K)

(B) Freedom of Press Act (Sweden)

(C) Freedom of Information Act
(USA)

(D) Freedom of Information Act
(India)

Paper-I111
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41.

42.

Arrange the following stages in

Disciplinary proceedings for major

penalty in a correct sequential order

and select the answer from the codes

given below :

(i) Compliant followed by
Preliminary investigation.

(i) Acceptance of charges or
rejection of charges.

(iii)  Appointment of Inquiry Officer.

(iv) Consultation with UPSC.

(v) Submission of Report by
Investigation Officer.

(vi) Final order.

Codes :

(A) (i) (i), (i), (iv), (v), (vi)

(B) (), (i), (iii), (iv), (vi), (V)

(C) (i), (i), (iii), (v), (iv), (vi)

(D) (), (i), (iii), (v), (vi), (iv)

Consider the following statements
regarding All India Services established
as per the provision of Article 312.

(1)) AIll India Services are created
consequent upon a resolution of
Council of States declaring that it
IS necessary and expedient in the
national interest to create an All
India Service.

(i) The Parliament may provide for

the creation of new All India

Service by making a law as per

the resolution of the council of

states.

The Supreme Court has also

directed the Government of India

to take steps for setting up an All

India Judicial Service.

All the services proposed to be

established under the All India

Service (Amendment) Act, 1963

have been established.

Select the correct answer from the

codes given below :

Codes :

ORI .

(B) (i), (i), (iii)

(©) (@, (i), (iv)

(D) (i), (i), (iii), (iv)

(iii)

(iv)

D-14-12



37.

38.

39.

40.

IR | Shise FHTaar bl ST HT BT
YR T & 2

(A) TGS wEfay & o

(B) M 3@ HaH, 9Rd WHR
©
(D)

Sh{a-Ie hl UETd

Y T S (o

fgdia wemate QR o F e A 9
el QR ! Hewarqul =mall el & 2

(A) "HIET € T

(B) IS Hivedt : T 99 SRt

(C) i 37 oo

(D) T T THUYH (T H TTHHR)

‘g gEd H FE dEAREE A
TGS T T8l &, g8 A =
Tel & AT T & uAH A H TUSAEE 8,
€ TLHRI UHAT BT W & q9UT IS
TS § o8 HFET Uishar & Tem g 17

Tg T Tohaeht & 2
(A) e Tt
(B) &R

(C) ETWA. TR
(D) @tz gia

fefeiad & | i °1 GoT S =
W FIYIT A € 2

(A) G H WA ST (%)
(B) U o T ATHAT (Tie)

(C) =T ot W= refag
(FUaT)

T Dt TFHAT SIS (TReT)

(D)

D-14-12
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41.

42.

ST IR SHIIaTe! Sl T I Hfshar
% il =ROT & WEl A W Saned
HIFTT TN AT I T T (T HIS
HEIAl 9§ HifeTy

() Torepma 3R S|kt Wt ST
(i)  3TRIYT ! BRI AT SRR
(i) S ATpRT @t T

(iv) G ol HaT 3T & IR

(v) S PRl FRT ufdesd W
AT

A R

(vi)
ETE
(A)
(B)
©)
(D)

(i), (ii), (iii), (iv), (v), (vi)
(i), (ii), (iii), (iv), (vi), (V)
(i), (ii), (iii), (v), (iv), (vi)
(i), (ii), (iii), (v), (vi), (iv)

T 312 % WEEN % AR T

e IRAE Gareli & I8 H A=

AT WX fae it

(i) oGSl YRAE Farsti &1 go o9
W & Hhed & INUTREET Thar
ST € 99 g =g g €
MG IRAF ol & G AL
fed O 3Teegs I THE ¢ |

(i) ST AT F THeT F AR IS

FHA ST F S ARG qRAR AT

% GO I ST T Tl & |

HaTed e J W YR R H

ARG IR =g dar & ST &

o0 FeH 33T ST F e fRu € |

SfEe  URAE e (SINEE)

M=, 1963 FRT TMUA A &

forw e ¢ Wit Hend, wnft W

HMEE |

e T T Fet B T | Fel T H

W‘clﬁ%l'q:

ETE

(A) (), (i)

B) (), (i), (iii)

(€ (), (i), (iv)

(D) (), (i), (iii), (iv)

(iii)

(iv)

Paper-I111



43.

44,

45.

46.

“The heart of an administrator must be
located in his brain” — This statement
IS given by

(A) Paul H. Appleby

(B) S.V.B. Patel

(C) A.D. Gorwala

(D) Jawaharlal Nehru

Which of the following Committee
/Commisssion recommended the repeal
of Article 310 and Article 311 in the
Indian Constitution.

(A) First  Administrative
Commission.

Rajamannar Committee
P.C. Hota Committee

Second Administrative Reforms
Commission.

Reforms

(B)
(©)
(D)

Under which of the following
provision of the Indian Constitution an
appropriate legislature may by law
regulate the recruitment and conditions
of service of Union or State Public
Services ?

(A) Article 308
(B) Article 309
(C) Article 310
(D) Article 311

Which one of the following
recommended that the name of the
Central Police Training College should
be changed as the National Police
Academy ?

(A) Gore Committee

(B) National Police Commission

(C) The Kohli Committee

(D) First Administrative Reforms
Commission

Paper-I111
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47.

48.

Match List — I with List — Il and select
the correct answer from the codes

given below :
List—1 List— 11
(Concepts) (Explanations)
a. Capital 1. Expenditure
expenditure towards  normal
running of
Government

b. Revenue 2.
expenditure

Expenditure  for
creating concrete
assets of a material
character.
Increase in the net
credit by Reserve
Bank of India to
Central
Government
Resources gap in

c. Gross Fiscal 3.
deficit

d. Monetary 4.

deficit terms of excess of
total Government
expenditure over
revenue receipts
and grants.
Codes :
a b c d
A 1 2 4 3
B) 2 1 4 3
(C) 2 3 4 1
D3 1 2 4

Which of the following statements

about Budget are correct ?

(i) Budget is an  economic
horoscope of the country.

(i) Budget is a political document
which provides a glimpse of

entire philosophy of
Government.

(iii) Budget is formulated by
legislature.

(iv) Budget is nut-bolt of public policy.
Select the correct answer from the
codes given below :

Codes :

(A) (i), (i) (B) (i), (i), (iii)

(C) (@), (i), (iv) (D) (), (i), (iv)
D-14-12



43.

44,

45.

46.

“Teh URTGeh h1 g5d STh Hrdsh H OiEn
STHT =T, T e fheehl € 2

(A) et T Qs
(B) TUH. & uew
(C) T St IRamen

(D) STARRATA &8

IRATT e & ST 310 31T =7
311 & TR &t = 7 9 T @mfd /
STTANT = 7T Bt & 2

(A)
(B)
(©)
(D)

ugqH H?IIHF‘I‘#’) W MIBIR
AR it

ot gt |

fgeia T GuR ST

ORA & Giau™ & FeAfafgd 9 9 &9 9
e o 3Td UGS e Hed, 99
T IT AH Y3l ® AT T Far vt
=t fafyr g fafafid s gspar € 2

(A) 3T 308
(B) =% 309
(C) =% 310
(D) =T 311

HA1T T ATSTETOT ShieiST Sl AT & Y
TG Gfer SRR T fear S e,
Ig fpgent ST € 2

(A) TR gt

(B) T fer AT

(C) higait |

(D) UIT IR GER STERT

D-14-12
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47.

48.

gt — | & G - |1 % Grer goferd i

=i - | =t - 1
(TR (AT
a. TS 1. WER & GEE
= T & o =
b. TTE T 2. ifds UFHd Ff 2T
IRt % i
% o0 ==
c. HHA 3. 9RAF {9 5%
TSTRIT FRT H1T TIHR B
et faet 3uR (Fe
i) | Jig
d. A arr 4. o Wit 3R
SN W P
ATy THR =TT
& HROT Sq=
T 67 51T
HT
a b c d
A 1 2 4 3
B 2 1 4 3
€ 2 3 4 1
M3 1 2 4

T & Wy ¥ fEAfeiad § ¥ S °
e g € 2
(i) ST I I R T € |

(i) &I TH TGS S&mesT & S

WER & TEUT ¥ H TH FTAR
TR AT T |

goie [ouM-Hedt §RT oI fohar ST
T

T AT T -2 (nut-bolt)
T

i ST 7T e T Tel ST BT 9TT B
e

(A) (i), (i) (B) (i), (i), (iii)
(C) (), (iii), (iv) (D) (i), (ii), (iv)

(iii)

(iv)
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49.

50.

51.

Which of the following statements

about controller & Auditor General of

India are correct ?

(i) ItisaBritish Legacy.

@i It is independent and
autonomous to undertake public
audit.

It does not have the power to
determine the nature and extent
of the audit.

It has the inherent right to
determine  what should be
included in the audit report.
Select the correct answer by using the
codes given below :

Codes :

(A) (1), (i), (iii)

(B8) (), (i), (iv)

(C) (i), (iii), (iv)

(D) (i), (i), (iii), (iv)

(iii)

(iv)

Which of the following are considered
as the criteria for selecting a research
topic ?

(i) Relevance

(if)  Utility

(iii) Feasibility

(iv) Ethical Acceptability

Select the correct answer using codes
given below :

Codes :

(A) (i), (i), (iii)

(B) (i), iii), (iv)

(C) (i), (iii), (iv)

(D) (i), (i), iii), (iv)

Which of the following observation
about actual engagement behaviour of
workers on job with machine is termed
as

(A)
(B)
(©)
(D)

Simple observation
Systematic observation
Participant observation
Non-participant observation
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52.

53.

54.

Which of the following is not a type of

Attitude Scale ?

(A) Summated Rating Scale

(B) Thurston’s Equal Appearing
Interval Scale

(C) Graphic Scale

(D) Bagardus Social Distance Scale

Consider the following statements
regarding interview method of data
collection and select the incorrect one.
(A) It is the most common method
for collecting qualitative
information.

It is a method which is usually
conducted face to face and
involve one interviewer and one
interviewee.

It is technique designed to elicit a
detailed view point of the
informants.

Interviewer’s notes may not be
considered as research data.

(B)

(©)

(D)

Public Methodology affording testing
of conclusions is an inherent article of
faith of Scientific Method. The reasons
are :

(i) It helps in replication of results.

(i) 1t explains the context and
conditions of Social Science
Research.

(iii) It fulfils the scientific obligations

for bringing improvements in
research tools.

(iv) It helps in exposing
inconsistencies in the Social

Science Research.

Select the correct answer using codes
given below :

Codes :
(A) (i), (i)
(B) (i), (i)
(C) (i), (i), (iii)
(D) (), (i), (iii), (iv)
D-14-12



49.

50.

51.

IRA & =1 3T Wl ol WieTsh & oI
T fferfiad § 9 i 9 e 93 € 2
() T T fofewr frma & |

(i) I€ W TGl qeT HT e 3
% felt = A @ ¢ |

T o Te % @ey AR faer
o FraToT =l vifert o @ T |

THHT I8 FUROT T 3R
ARIPR & T orar wWie Raie 9 =1
et T ST |

e U T i 1 TET Feh Tl S A
Waﬁﬁl’q:

A

(A) (), (i), (iii)

B) (), (i), (iv)

(C) (i), (iii), (iv)

(D) (), (i), (iii), (iv)

(iii)

(iv)

G fowa % =57 & fog = # |
8 AT AT ST & 9

()  VTERTERdT

(i) U=

(iii) HrEar

(iv) Hfdes T

T ST T HE & HediT & Fet S B
Waﬁﬁl’q:

FE

(A) (i), (i), (iii)

(B) (), (iii), (iv)

(C) (i), (iii), (iv)

(D) (), (i), (iii), (iv)

WE g FE F UG HEARAT H
&I HeR &% oI H fefaied 9 |
i G 3yt 3 € 2

(A) TTIROT VeqoT
(B) =Haferd vetoT
(C) T&vmit weqor
(D) 3T-TEHwH Sagor

D-14-12
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52.

53.

54.

fr=fefed & @ == @1 gk 9
TR &I & 2

(A) THETRT Hife FaioT o

(B) 9 T oA SF=dreT TTq
(C) &A™

(D) TIREH T HHINH A AT

AR TUEUT ! HIRIhR YOTeAl & 9’ |
I BT T AT W iR W 3R T
I T TIT HISTT

(A) TOTEF AT THT H % [T I8
HeTeeh FER JoTedl & |

Tg TH TA WAl & ST G
JFH-THA &S T GaTerd sl STl
€ 31X THH U WeTTeh ekl q U
HeAceh Y 3 et IMMHeA et € |
TE ORI & fa%ga gieshior i
THIRT § o o T JAR W TTE oty
T

TR & AICd i ST

3iehe &l HHET ST el |

(B)

(©)

(D)

TTshet T lieh Ugid FRT FeAfud e

I fafy &1 ww eraMted foved

g ¢ | S BRUTE

(i) I Fepdt ® geEnud wA 6

TRIG H FediT 3ol € |

(i) I& FMINTH foF= SFEuH &

TR 3N IUY Ty STaena

H WL FATE |

T ITIEHUM TN H IR T &

?Eéwﬁwaﬁ?oﬁaﬁw&gﬁm
|

R BRI R i

fognfoat & oMERE w=3 o

TETIA FAT Y |

= f3T T et w TEEA F el IR H

W‘clﬁ%l'q:

ETE

(A) (), (i)

(B) (), (iii)

(€) (), (i), (iii)

(D) (), (i), (iii), (iv)

(iii)

(iv)
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55.

56.

57,

58.

Which report of Second Administrative
Reforms Commission is related to
‘State and District Administration’ ?

(A) 12"
(B) 13"
(C) 14"
(D) 15"

Which of the following body remarked
that the ‘Block Development Office’
should be spinal cord of the rural
development process ?

(A) Balwant Rai Mehta Committee
(B) K. Santhanam Committee

(C) Ashok Mehta Committee

(D) G.V.K.Rao Committee

Commission
supervises

The State Election
conducts, controls and
municipal elections as per

(A) Article 325
(B) Article 241
(C) Article 243-K
(D) Article 245-D

K. Shanthanam Committee (1963) was
set up to look into

(A) Personnel of Panchayati Raj
Institutions

(B) Finances of Panchayati Raj
Institutions

(C) Personnel of Urban Local Self
Government

(D) Finances of Urban Local Self

Government
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59.

60.

61.

Which of the following are parts of the
classification of Urban Poverty
Alleviation Programmes made by
National Urbanization Commission ?

(1) Programmes for employment
generation.

(i)  Shelter and Physical environment
related programmes.

(iii) Nutrition supplement
programmes.
(iv) Development of institutional

capacities of service agencies.

Select the correct answer from the
codes given below :

Codes :

(A) (), (i), (iii)
(B) (i), (i), (iii), (iv)
(C) (i), (iii), (iv)
(D) (), (iii), (iv)

“As the periodicity of constitution of
the Central Finance commission is
predictable, the State should time the
constitution of their State Finance
Commissions  suitably.” It  was
observed by

(A) 10" Finance Commission
(B) 11" Finance Commission
(C) 12" Finance Commission
(D) 13" Finance Commission

“Gram Sabha means a body consisting
of persons registered in electoral rolls
relating to a village comprised with
area of panchayat at the village level.”

Which of the following has given
above description of Gram Sabha ?

(A) Balwant Rai Mehta Committee
(B) Ashok Mehta Committee
(C) L.M. Singvi Committee
(D) Constitution of India
D-14-12



55.

56.

57.

58.

fgdia uematTs QuR eman # e § |
I @1 ufdeeT ‘T Te 5ol W’ 9
Tt & 2

(A)
(B)
(©)
(D)

128t
134t
143t
159t

oo

= O ¥ fg 9mla 3 %=1 % ‘@ue
foepr atfuepRl” 1 o faeer ufskar &1
TEgUS BT 18T 2

(A) Soad I HEdr QHfd
(B) . HaHw @At
(C) owiis Hear affa
(D) St %, T Tl

T e e e B O e e ess
% AR TR FAE S 3T, i
3 TRISHETOT ST § 2

(A) 3T=T 325
(B) =T 241
(C) 31T 243K
(D) 3T 245D

1963 | Tfed &, G9=H FAfd 1 T =
H ¥ fohe T & foham T o 2

(A) =T T TS & HIEE
(B) e IS HEme W for

(C) TR T TS % HIfFH
(D) TR R GEnst i fom

D-14-12

19

59.

60.

61.

frefafed 8 @ &9 @1 TEE TR
MM R GIR fhw MU TRE Wi
S HIISHHT o TTIERROT ST AT & 2

(i) TSR G5 % et SHshe

(i) oM R Hifds TATerReT el
FHIIHH

(i) TI9OT gt SrIshy

(iv) 9o AT & I e
[EEaE)

T ST T HE H Feddr ¥ el 3 H

WW:

HE

(A)

(B)

(©)

(D)

(1), (i), (iii)

(i), (ii), (i), (iv)
(ii), (iii), (iv)
(i), (ii), (iv)

“Jir waE fam emm & T W
TrIErY qE-geHE § o1 T99 H 30
T Tt 3Tt & e 1 gHF 3tad 'Y
¥ Mivea w3 Afew 17 g7 e T@ithd
o & 2

(A) 10ai faa s

(B) 11ai fa= smamT

(C) 12ai fa smam

(D) 13ai fa=r st

“OT 9T W UMW TR W YO & 8T 6
fiaR qTeee fohdll o 9§ Hetaq Faras
ATt | AR Al | Heret
P afima & 17

fefad & 9 foFm oW 99 & d@9y o
SYgeR fareron fear & 2

(A) FoTe=a TF Heal qHl
(B) 3TeIieh T WA

(C) veruw. faudr afmfa
(D) R T Giag=
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62.

63.

64.

65.

The term “Social Justice’ is originally
based on the teachings of

(A) St. Thomas Aquinas
(B) Karl Marx

(C) John Rawls

(D) B.R. Ambedkar

The Central Social Welfare Board was
established by :

(A) Parliamentary enactment
(B) Resolution of Cabinet

(C) Registration under company Act,
1956
(D) The order of the President

The interaction between Government

and NGOs in India mostly relates to

(i) Policies and legislation related to
disadvantaged sections.

(i)  Economic policies

(iii) Operational collaboration  for

programmes with or without
Government funding.

(iv) Peaceful protest movement of
people in which NGOs are
involved.

Select the correct answer from the
codes given below :

Codes :

(A) (), (i)
(B) (i), (i), (iv)
(C) (i), (iii), (iv)
(D) (iii), (iv)

What is the name of the integrated
scheme for women empowerment
being implemented by the Ministry of
Women and Child Development ?

(A) TRYSEM

(B) DWACRA

(C) Swayamsidha

(D) Swabhiman
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66.

67.

68.

Policy monitoring may lead to which

of the following actions ?

(i)  Strengthening and improving the
policy programmes.

(i) Replanning of the policy
programme.

(iii) Cancellation of the policy
programme.

Select the correct answer from the
codes given below :

Codes :

(A) (i)

B) (), (i)

(C) (), (i), (iii)

(D) (i), (iii)

Assertion (A) Public Policy is
whatever Governments choose to
do or not to do.

Reason (R) : Policy making is clearly
related to decision making.

Codes :

(A) Both (A) and (R) are correct and

(R) is the correct explanation of

(A).

Both (A) and (R) are correct, but

(R) is not the correct explanation

of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

(B)

(€)
(D)

Arrange the following steps in Policy
Analysis in the correct sequence and
select the correct answer from the
codes given below :
(1)  Problem identification
(i) Forecasting and evaluating the
alternatives.
(iii) Determining alternative courses
of action.
(iv) Policy choice
Codes :
(A) (i), (i), (iii), (iv)
(B) (i), (iii), (ii), (iv)
(C) (i), (iv), (i), (iii)
(D) (i), (iii), (iv), (i)
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62.

63.

64.

65.

gl AT v W e
foraent ferem wX amrenfyd & 9

(A) Hue 9EF T

(B) hreT OTRA

(C) i Few

(D) dF.3TR. SF=EHT

FHEE U Hea] 98 = 4§ fhas
SR Tenfua fear T on 2

(A) TESE FEE 5T |

(B) e o Ud §RT |

(C) = ITufad, 1956 & 3T=wid
TSRO gRT |

(D) UM % ST BT |

TR § WWHR F Wiessh IR0 & qe

SR gerd: =1 o ¥ fohad Tt

Bt & 2

(i) dfad o 9 gErud e e iR
foemem

(i) Ty Aifqar

(i) PR 3R T wfvad ar it
HEHAT H S TeanT

(iv) o * ?'I'I'r?l'{“!f T EFI'IW
5 R atfireor off G €

T TR 1 A1Thd e H & =TI HIT ;

ETE

(A)

(B)

©)

(D)

(1), (i)

(1), (i), (iv)
(i), (iii), (iv)
(iii), (iv)

AfeeT Ta ot {ahrd Taer gRT Hiee
TR % foiu w@itaa w1 @
Tehighel AT ol ATH 47 € 2

(A) TEEd

(B) &=

(C) wafasgT

(D) @
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66. ST 3HEU HT = § T FT UROm @

67.

68.

HHAT T ?

(i) FHfT Tl F1 G T AR
(i) T FRIHT FH IS

(iif) T TR T FREAHIOT

F= kT T oFE F ¥ W OSW H® oW
T

&<

A 0

(B) (), (i)

(C) (@, (i), (iii)

(D) (), (iii)

Afipe (A) : AT T'l & S
SN BT TRl € AT TEl BT
TR & |

% (R) ;=i o T w1 @
folg o9 @ Hetuq 1

YA

(=N

(A)

(A) 3R (R) 3HT W&l & 3R (A) =1
(R) TEl Tiehor &

(A) 3R (R) 3 W& & 3iw (A) =1
(R) TEl Teiehor &1 &

(A) &t &, = (R) TeAd & |

(A) T &, T (R) T&T T |

(B)

(©)
(D)

T foreeroor & 1 SHRATE il el ST
o Fafed ® dAR 9" KT U $e &
TEANT | TE I H FIH R

() IS AN

(i) Toshedt &1 qargam 3R godish

(iii) BT HIIATE! T FEROT HAT
(iv) ifq =aT

ETE
(A)
(B)
(©)
(D)

(1), (i), (iii), (iv)
(1), (iib), (ii), (iv)
(1), (iv), (1), (ii1)
(i), (iii), (iv), (1)
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69.

70.

71.

Match List — | and List — 1l and select
the correct answer from the codes

given below :
List— 1| List—11
(Authors) (Books)
a. Thomas R. 1. Policy
Dye Analysis  for
the Real World
b. B.W. 2. Speaking Truth
Hogwood ‘to power the
and L.A. Art and Craft
Gunn of Policy
Analysis
c. A. Wildavsky 3. Managing the

Public Sector

d. A. Massey 4. Understanding

Public Policy
Codes :
a b c d
(A) 3 2 1 4
(B) 4 1 2 3
) 2 3 4 1
(D) 1 4 3 2

Which of the following states does not
have 50 percentage seats reserved for
women in the local self government
institutions/Panchayati Raj Institutions
as on March, 2012 ?

(A) Tripura

(B) Tamil Nadu
(C) Odisha

(D) Rajasthan

Which of the following does not have
Panchayati Raj Institutions ?

(A) Andaman and Nicobar Islands
(B) Daman and Diu

(C) Delhi

(D) Lakshadweep
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72,

73.

74.

75.

Which of the following committees
recommended the Panchayats
(Extension to the Scheduled Areas)
Act?

(A)
(B)

B.D. Sharma Committee

Second Administrative Reforms

Commission
(C©) M.M. Punchhi Commission
(D) Dileep Singh Bhuria Committee

In which part of the Constitution of
India, ‘Economic and Social Planning’
is included ?

(A) Union List

(B) State List

(C) Concurrent List
(D) Eighth Schedule

How many Public Sector Undertakings
were recognized as ‘Maharatnas’ in
India till the year 2011 ?

(A) Three
(B) Five

©)
(D)

Seven
Nine

Which one of the following is not the
correct form and method of Public
Private Partnership ?

(A) Lease, Concessions, Greenfield
Projects and Divestiture.

(B) Management Contract, Lease,
Brown field Project and
Concessions.

(©) B.0.O., B.O.T., B.0.O.M,, and
Management Contract

(D) Divestiture, Lease, Greenfield

Projects and Public Services.
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72,

73.

74,

75.

69. It — | Tl — || & I GAfAT T
3T A KU i W el ST H 97 T ;
= - | =t - 11
() (J&TH)
a. M9 R, T 1. Hitewdr
AT BT
T gt e
b. . 3=, e 2. EfET T Z
S T, T e § 3T
T R AH
Yiferd
eifgitare)
C. U dEesa@h 3. AN T
gfeeteh T
d. T o9 4, SIS
Yfsereh iferdt
e
a b c d
A3 2 1 4
B 4 1 2 3
© 2 3 4 1
@) 1 4 3 2
70. W 2012 9% = H | TR0 o9 § T
e GEeT / UEEdl TS Geme o
Tfeetet & T 50% e 3TReIor & € 2
(A) Pz
(B) dfferTg
(C) g
(D) =TI
71. = 9 g derEdl O 9 I 91§ 2
(A) veHF Td HRER Fuage
(B) T TS &
(C) feoett
(D) I
D-14-12
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Frer 3 9 Py T 3 e (St A
o T AT ) S 8 o 2

(A) @2l vt |rafa

(B) Tadia vemae® GurR TNt
(C) Tmuy. Ust T

(D) Teei fag qiar affa

TR & GOy & f6g 9T 4 ‘o 3
HrATRSTe ot FiEAfeld € 2

(A) T
(B) = T
(C) e i
(D) el s

T 2011 TF Toh= ofish ST Sl “FERE
% W H A o 2

(A)
(B)
(C) um
(D)

fefafgd & @ o 91 gresteh-si
HEERT ol Gl YN 3K ulgd Tal ¢ ?

(A) uel, REmEd, W9 wies uRFSHT
3T TTEER

(B) ey WiogT, UgT, ST hies TR
3R T

(C) shawam, sae, e sfum. dAR
ECCRCIE]

(D) TRo=R, UEl, U Hies URASHNT
3R AR G
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